e KEY

Math 255, Quiz #9, Summer 2012

Instructions: Show all work. Use exact answers unless asked to round.

1. Amass of 100 g stretches a spring 5 cm. If the mass is set in motion from its equilibrium
position with a downward velocity of 10 cm/sec, and if there is no damping, determine the
position y of the mass at any time t. When does the mass first return to equilibrium? (i.e. when
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2. Solve the Cauchy-Euler equation t?y" +5ty' + 4y = 0,

1" =y
\/' = “_t“"\
7” - ﬂ(ﬂ“‘) th
T -0t A SEnt™' + 4™ =0

Al 1" 4 Gt 4 gtteo

{“[h’wh—k?\n +‘1] =0




